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QUESTION 1

Which of the following can NOT be done by a dbo? (Choose 2) 

A. create a database 

B. create database objects 

C. use database objects 

D. grant permission to grant permission 

E. transfer object ownership 

Correct Answer: AE 

 

QUESTION 2

Why should data and log be located on separate devices? (Choose 2) 

A. to ensure recoverability 

B. reuse of space efficiently 

C. ease of maintenance 

D. improves performance 

E. improvesdbcc checkstorage performance 

Correct Answer: AD 

 

QUESTION 3

Which of the following system roles will permit the use of the dump database command? (Choose 2) 

A. mon_role 

B. oper_role 

C. sa_role 

D. sso_role 

E. is_admin_role 

Correct Answer: BC 

 

QUESTION 4
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What can be used to examine partition skews? (Choose 2) 

A. sp_helpdb 

B. sp_helpartition 

C. sp_help 

D. optdiag 

E. reorg 

Correct Answer: BC 

 

QUESTION 5

In the create database syntax, the with override is necessary if 

A. you need to overwrite existing datA. 

B. you do not want to overwrite existingdatA. 

C. you need to separate log and data on the samedevicE. 

D. you need to invoke an abbreviated version of createdatabasE. 

Correct Answer: C 
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